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• GDP and its 
aggregate 
components

• sectoral output &
GVA, prices, trade & 
competitiveness 
effects

• sectoral
international trade
in bilateral format & 
can be presented 
by trade blocs

• consumer prices & 
expenditures, & 
implied household 
distributional
effects

• sectoral
employment by 
gender 

• labour force and 
participation rate
by gender and age 
groups

• unemployment
rate and level

• sectoral wage rate
• real income of 

different socio-
economic groups 

• GINI coefficients

• energy demand, by 
users and by fuel

• energy prices
• Power, road 

transport, heating, 
iron and steel 
sector detailed 
results

• CO2 emissions by 
sector and by fuel

• other air-borne
emissions

• material demands 
(DMC, DMI, DE, M, 
X, TMR), by users 
and by materials
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J:12 (fuels)

1. Hard coal 
2. Other coal etc
3. Crude oil etc
4. Heavy fuel oil 
5. Middle distillates 
6. Other gas 
7. Natural gas 
8. Electricity 
9. Heat 
10. Combustible waste 
11. Biofuels
12. Hydrogen 

EM:14 (air emissions)

1. CO2

2. SO2

3. NOX

4. CO
5. Methane
6. Black smoke
7. VOC
8. Nuclear - air
9. Lead - air
10. CFCs
11. N2O (GHG)
12. HF6 (GHG)
13. PFC (GHG)
14. SF6 (GHG)

FU:22 (fuel users)

1. Power Generation
2. Own use
3. Hydrogen production
4. Iron & Steel
5. Non-ferrous Metals
6. Chemicals
7. Mineral Products
8. Ore-extraction
9. Food, Drink & Tobacco
10. Tex., Cloth. & Foot.
11. Paper & Printing
12. Engineering etc
13. Other Industry
14. Construction
15. Rail Transport
16. Road Transport
17. Air Transport
18. Other Transport serv.
19. Households
20. Agriculture, forestry, etc.
21. Fishing
22. Other Final Users
23. Non-energy use
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𝑁𝑃𝑉𝑒𝑥𝑝𝑒𝑛𝑠𝑒𝑠 = ෍
𝐼𝐶 𝑡 + 𝑂𝑀 𝑡 + 𝐹𝐶 𝑡 + 𝐶𝑂2𝑇 𝑡 + ⋯

1 + 𝑟 ௧

ఛ

଴

𝑁𝑃𝑉௜௡௖௢௠௘ = ∑
௉ ௧ ∗௉௥௢ௗ௨௖௧௜௢௡(௧)

ଵା௥ ೟
ఛ
଴ = 𝑃 ∗ ∑

ଵ

ଵା௥ ೟
ఛ
଴

𝐵𝑟𝑒𝑎𝑘 − 𝑒𝑣𝑒𝑛:
𝑁𝑃𝑉௘௫௣௘௡௦௘௦

𝑁𝑃𝑉௜௡௖௢௠௘
=

∑
𝐼𝐶 𝑡 + 𝑂𝑀 𝑡 + 𝐹𝐶 𝑡 + 𝐶𝑂2𝑇 𝑡 + ⋯

1 + 𝑟 ௧
ఛ
଴

𝑃 ∗ ∑
1

1 + 𝑟 ௧
ఛ
଴

= 1

𝐿𝐶 𝑡 = 𝑃 =
∑

಺಴ ೟ శೀಾ ೟ శಷ಴ ೟ శ಴ೀమ೅ ೟ శ⋯

భశೝ ೟
ഓ
బ

∑
భ

భశೝ ೟
ഓ
బ

+ 𝛾

sdLC =
∑

𝑠𝑑𝐼𝐶 ଶ + 𝑠𝑑𝑂𝑀ଶ + 𝑠𝑑𝐹𝐶ଶ + ⋯
1 + 𝑟 ௧

ఛ
଴

∑
1

1 + 𝑟 ௧
ఛ
଴



𝑠𝑑𝐹 ௜௝ = 𝑠𝑑𝐿𝐶௜
ଶ 𝑠𝑑𝐿𝐶௝

ଶ = 𝜎௜
ଶ+ 𝜎௝

ଶ = 𝜎௜௝F௜→௝ = erf
𝐿𝐶௝ − 𝐿𝐶௜

𝑠𝑑𝐹௜௝
= erf

𝑥௝ − 𝑥௜

𝜎௜௝

𝐹௝→௜ = 1 − 𝐹௝→௜



∆S௝→௜ ∝  
𝑆௜

𝐵𝑇௜
ȉ

𝑆௝

𝐿𝑇௝
ȉ F௜௝ ȉ ∆t

∆S௜→௝ ∝  
𝑆௝

𝐵𝑇௝
ȉ

𝑆௜

𝐿𝑇௜
ȉ F௝௜ ȉ ∆t

෍ ∆S௝→௜

௝

= ∆𝑆௜= ෍ 𝑆௜𝑆௝ ȉ F௜௝A௜௝ − F௝௜A௝௜ ȉ ∆t

௝

A௜௝ =  
𝜅

𝐵𝑇௜ ȉ 𝐿𝑇௝

t t + Δtt t + Δt

t t + Δtt t + Δt
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